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1. [76-3] W ZERENLAS & (X,Y) MIBEG 115

Y
X 0 1
0 04 a
1 b 0.1

EAIBEHLIENE (X = 0} 5 {X +Y = 1} HITASE, K a. b K.
2. [75-1/81-1/88-1] AN T AT 100 PFRIEF, Hof—. . ZAEEA BT 70,20, 10 f B (X1, Xs)
BIEE AR, WA X1, Xo DA TAUIN FR AR SS 1 RIS 1ok

(1) X1, Xo @M EAML? NI4T

(2) gERM { X0 =1} T Xo MM

(3) gERM {X2 =0} T Xu MZMFTA1;

(4) A {Xo =0} T X1 WA REL Fx, x, (21 ]0).

[86 9] B (X, Y) MR G BR324, B G il y = 1 AKREZL y =0, 2 =1 5 = = ¢ FTHEM.

%

(1) (X,Y) BHRE B iR %G
(2) X.Y WG A
(3) X.Y REHEAMML? A7

4. [90-3] ¥ (X,Y) BRI G B9 2) 040, Hof G i y = —2, y =2 5 o =2 fiil. 2 (X,Y)
IR LR, ALK XY Y4 B ek B0 Al BT 5 3 s oK

1) SR REL fxpy (x| 1) fxpy (2] y), Hd Jyl <2
2) KM% P(X <V2|Y =1);
3) WESFKMAY =1} F X WFMADHRE Fxy (o | 1);
) BESMAY =y} X BRAERE Fxpy (2 | y), H [yl < 2.

5. [93-7] BHILAEE vl L3 ABL X IR (A > 0) IR, BEOLRFAEH I T AR p (0 <p < 1),
HA @ TS EHEM. DAY FRt@ TR AL K

(1) BEW EHEAECH n BAUT, 784 m NFERIEER PV =m | X =n);
(2) “EEBEHLAE R (X,Y) [MIEA A
(3) EW Y A Ap WiAkA s 1. [ P(Y =m) =302, P(X =n)P(Y =m | X =n)]

S |
1. [83-3] I _ZEMENLAE & (X,Y) WIHRG /1151 H

Y

(
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(
(4

1 2 3

1T | 1/6 1/9 1/18
2 1/3  « B

X

Y a5 g PUER X, Y MEMSL?

2. [76-2/82-2/89-2] PiZ K-VHIMIIBLFSEHE = 8. i X FORBEAMPIRIER AL, ¥V Fon b s 2209
HiH{E. BOE BB, HARRERA TN, O (X,Y) RG], Ak X, Y S50 EIR ]
RERES 1. ok

(1) X,Y REEAMIL? A7
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(2) &MY =1} & X B2 5;
HREFRMAX =1} R Y B4

3. [84-5] CAIRENLAS B X, Y RSN, H P(XY =0) = 1. #k: (1) (X,Y) WEAATE; (2)X,Y &
B HAMSE? A7

X [ 1 0 1 Y
g | 1/4 1/2 1/4 RS

piH O
Pl —

4. [92-4] ¥ (X,Y) BYBEE R AL
CJ2er W 2 >0,y >0
R
(1) ZRAFREEREL fxy (@ | 1) A fxy (2| y), Hby > 0;
(2) (X,Y) HEEH R
(3) ME& P(X < 1,Y > 2).
5. [93-6] IBENLAZ R X ~ E(1), HEH X =2 i, Y ~U(0,2) , Hrp 2 > 0. 150K (X,Y) BEBRAR R

= g
1. [92-3.3] B HEREHLAE R (X,Y) ~ U(D), Kbt D = {2® +y? < 1}, sREMER

1
P{X 5 Y = O} )
2. [95-4.3] WHEHIAS B (X, Y) HIRRREE Y
flz,y) = {Aa:y{ (x,y) € (0,1) x (0,1)

0, otherwise
e X AY RAHE ST, HHEH.
3. [98-4.9] WHEHE R X 5 Y MEM, HARM U(0,3). 5K Pmax{X,Y} <1).
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